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PVC 1/1002 VBR-nrtZ2 74 ELICt.3500kbps2| SCRE 7|H2E PA-A3= tx_|imitE 1372 &%
gLich o] A&t & A 5t2dH 3500kbps 2| SCRE d/ZE 2 H#hai oF 2FLICH(3,500,000H|E/ i) *
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7200- 17(confi g) #interface atm 4/0
7200-17(config-if)#pve 1/100
7200- 17(config-if-atmvc) #vbr-nrt 4000 3500 94
7200-17(config-if-atmvc)#
*Qct 14 17:56:06.886: Reserved bw for 1/100 Avail able bw = 141500



7200- 17(config-if-atmvc) #exit

7200- 17(config-if) #logging

*Qct 14 17:56:16.370: atnmdx_setup_vc(ATMA/0): vc:6 vpi:1l vci:100 state:2 config_status:0
*Qct 14 17:56:16.370: atmdx_setup_cos(ATM4/0): vc:6 wed_nane:- max_q: 0

*Qct 14 17:56:16.370: atnmdx_pas_vc_setup(ATM4/0): vcd 6, atm hdr 0x00100640, ntu 4482
*Qct 14 17:56:16.370: VBR pcr 9433, scr 8254, nbs 94

*CQct 14 17:56:16.370: wve tx 1imit=137, rx_|imt=47

*Qct 14 17:56:16.374: Created 64-bit VC count

PVC 1/1012 ABRZ TAEILICHPA-A3E 7|= ABR tx_limit 2} 1282 X|&ELICHL & & X).

7200-17(config-if) #pve 1/102
7200- 17(config-if-atmvc) #abr ?
<1-155000> Peak Cell Rate(PCR) in Kbps
rate-factors Specify rate increase and rate decrease factors (inverse)
7200- 17(config-if-atmvc)#abr 4000 1000
7200-17(config-if-atmvc) #
*Qct 14 17:57:45.066: Reserved bw for 1/102 Avail abl e bw = 140500
*Qct 14 18:00:11.662: atndx_setup_vc(ATMA/0): vc:8 vpi:1l vci:102 state:2 config_status:0
*Qct 14 18:00:11.662: atndx_setup_cos(ATM4A/0): vc:8 wed_nane:- nmax_q: 0
*Qct 14 18:00:11.662: atndx_pas_vc_setup(ATM4A/0): vcd 8, atm hdr 0x00100660, ntu 4482
*Qct 14 18:00:11.662: ABR pcr 9433, ntr 2358, icr 9433
*Qct 14 18:00:11.662: wvec tx_limit=128, rx_|imt=47
*Qct 14 18:00:11.666: Created 64-bit VC counters

PVC 1/102= UBRZ TS E LICHPA-A3E 7|& UBR tx_limit 2f 402 XI™GgLICHS £ & X).

7200-17(config-if) #pve 1/101

7200- 17(config-if-atmvc) #ubr 10000

7200-17(config-if-atmvc)#

*CQct 14 17:56:49.466: Reserved bw for 1/101 Avail able bw = 141500

*Qct 14 17:57:03.734: atmdx_setup_vc(ATMA/0): vc:7 vpi:1l vci:101 state:2 config_status:0

*Qct 14 17:57:03.734: atmdx_setup_cos(ATM4/0): vc:7 wed_nane:- max_q:0

*Qct 14 17:57:03.734: atmdx_pas_vc_setup(ATM4/0): vecd 7, atm hdr 0x00100650, ntu 4482

*QOct 14 17:57:03.734: UBR pcr 23584

*Qct 14 17:57:03.734: wve tx limit=40, rx limit=117

*Cct 14 17:57:03.738: Created 64-bit VC counters
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7200- 17#show controller atm 4/0



Interface ATMA/0 is up
Hardware is ENHANCED ATM PA - OC3 (155000Kbps)
Framer is PMC PMb346 S/ UNI -155-LITE, SARis LSI ATM ZER 11
Firmmvare rev: G125, Franer rev: 0, ATMZER || rev: 3
i db=0x622105EC, ds=0x62217DEO, vc=0x62246A00
slot 4, unit 9, subunit 0, fci_type 0x0059, ticks 190386
1200 rx buffers: size=512, encap=64, trailer=28, nmagic=4
Curr Stats:
VCC count: current=7, peak=7
SAR crashes: Rx SAR=0, Tx SAR=0
rx_cell _lost=0, rx_no_buffer=0, rx_crc_10=0
rx_cell | en=0, rx_no_vcd=0, rx_cell _throttle=0, tx_aci_err=0
Rx Free Ring status:
base=0x3E26E040, size=2048, wite=176
Rx Compl Ring status:
base=0x7B162E60, size=2048, read=1200
Tx Ring status:
base=0x3E713540, size=8192, wite=2157
Tx Conpl Ring status:
base=0x4B166EAO, si ze=4096, read=1078
BFD Cache st at us:
base=0x62240980, size=6144, read=6142
Rx Cache status:
base=0x62237E80, size=16, wite=0
Tx Shadow st at us:
base=0x62238900, size=8192, read=2143, wite=2157
Control data:
rx_max_spins=3, max_tx_ count=17, tx_count=14
rx_threshold=800, rx count=0, tx_threshold=4608
tx bfd write indx=0x4, rx pool_info=0x62237F20
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((P*8)*D)/S

P = Packet size in bytes. Multiply by eight to convert to bits.
D = Transmit-ring depth.

S = Speed of the VC in bps.
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7200- 1(confi g-subi f) #pve 2/2
7200- 1(config-if-atmvc)#?
ATM virtual circuit configuration conmmands:

abr Enter Available Bit Rate (pcr)(ncr)

br oadcast Pseudo- br oadcast

cl ass-vc Configure default vc-class nane

def aul t Set a command to its defaults

encapsul ati on Sel ect ATM Encapsul ation for VC

exit-vc Exit from ATM VC confi gurati on node

ilm Configure ILM managenent

i narp Change the inverse arp tinmer on the PVC

no Negate a conmand or set its defaults

oam Configure oam paraneters

oam pvc Send oamcells on this pvc

pr ot ocol Map an upper |ayer protocol to this connection.
random det ect Confi gure WRED

servi ce-policy Attach a policy-map to a VC

transmt-priority set the transmt priority for this VC
tx-ring-limit Configure PA level transmit ring limit

ubr Enter Unspecified Peak Cell Rate (pcr) in Kbps.
vbr-nrt Enter Variable Bit Rate (pcr)(scr)(bcs)

7200-1(config-if-atmvc) #tx-ring-limit ?
<3-6000> Number (ring limit)
<cr>

M A EE AU S E Aot show atm ve HEE2 AFSELICH.

7200- 1#show atm vc

VC 3 doesn't exist on interface ATMB/ 0

ATMb/ 0.2: VCD: 3, VPI: 2, VC: 2

VBR- NRT, PeakRate: 30000, Average Rate: 20000, Burst Cells: 94
AAL5- LLC/ SNAP, etype: 0x0, Fl ags: 0x20, VCnode: 0xO
OAM frequency: 0 second(s)

PA TxRingLimit: 10

I NARP frequency: 15 minutes(s)

Transmit priority 2

InPkts: 0, QutPkts: O, InBytes: 0, QutBytes: 0
InPRoc: 0, QutPRoc: O

InFast: 0, QutFast: 0O, InAS: 0, QutAS: O

I nPkt Drops: 0, QutPktDrops: O

CrcErrors: 0, SarTimeQuts: 0, OverSizedSDUs: O
OAM cel I's received: 0O

OAM cells sent: O

Status: UP

EE 8t show atm pvc vpilvei HHEE AFE 35104 #
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vi ki ng#show atm pve 1/101
ATM6/0: VCD: 2, VPI: 1, VC: 101
UBR, PeakRate: 149760
AALS5- LLC/ SNAP, etype: 0x0, Flags: 0xC20, VCnode: 0xO0



OAM frequency: 0 second(s), OAMretry frequency: 1 second(s), OAMretry
frequency: 1 second(s)

OAM up retry count: 3, OCAM down retry count: 5

OAM Loopback status: OAM Di sabl ed

OAM VC state: Not Managed

ILM VC state: Not Managed

VC TxRingLimit: 40 particles

VC Rx Limit: 800 particles
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